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55.

56.

57.

58.

59.

60.

(10++25)(12-V49) BT TS .......... =
a) 43

b) 33
c) 5V3
d) 23

1 YA T 3TE, SIHed & w9 H

foTRaT STRATT |
a) 0.005

b) 0.05

c) 0.2

d) 0.02

IR fISTel fIet BT 10% Hre forar <rar 8, a9
A1 45 U BT YA BRAT ITD] & | B (o
fope=m o ?

a) T50

b) %45
c) 55
d)

57

19 55 dp AT UTeh G131 BT I STl
DIFTY |

a) 30
b) 28
c) 285
d) 32

S HEATRIT BT AU 5:6 B AR DT YeL.3il.
TH, (T FHIUaR) 480 ©, Ol SIbT HE<H

TGS (T A).T%.) T BT 2
a) 67
b) 16
c) 56
d) 66

A =it 7 ST 77 7 | gl e g
@I A T | Ul AT S BHIFT |

a) 132

b) 130

c) 77

d) 78

55. The square root of (10+V25)(12-V49)

56.

57.

58.

59.

60.
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If 10% of electricity bill is deducted, ¥ 45 is
still to be paid. How much was the bill?

a) 350

b) 45
c) 55
d)

Find average of natural numbers from 1 to
55.

a) 30

b) 28
c) 28.5
d) 32

The ratio of two numbers is 5:6 and their
L.C.M.is 480, thentheirH.C.Fis?

The average of three numbers is 77. The
first number is twice the second and the
second number is twice the third. Find the
firstnumber.

a) 132

b) 130
c) 77
d) 78



Q.61

Q62

Q.63

Q.64

Q.65

Which of the following does not
increase when we move from left
to right along a period in the
periodic table?

a) Oxidising Power of elements

b) Electronegativity
c¢) Non-metallic Character
d) Reducing power

The easily noticed smell of the
LPG gas is because of which
among the following?

a) Butane

b) Propane

c¢) Methane

d) Ethanethiol

Which is the ground-state

electronic configuration of chlorine?
a) 15%2S%2p°

b) 1s®2s*2p° 3s° 3p*

c) 1s%2s°2p° 3s? 3p°

d) 1s%2s* 2p®3s? 3p°

Which of the following contains
an atom (other than hydrogen)

which lacks an octet of valence

electrons?

a) NH3
b) H3O"
C) BH3
d) NHs "

The expected H-H-H bond angle
in [H3]" is

a) 180°

b) 120°

c) 60°

d) 90°
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Q.62

Q.63

Q.64

Q.65

OI§ B9 3fTad IRt & U 3M1dd & q1y-T1y
T Y 3¢ B 3R d5d & af g T I &
el §gaTg?

a) @l oI AfTeHur Afdd

b) gaderefad

Q) ﬁ?-‘iﬂﬂﬂﬁ?{

d) YR UraR

YIS T BT ST & ST S aTeft Ty
fFufafad o 3 feae R g 82

a) @l%_"f

b) WA

C) HiT

d) T3

O\

1 BIBIRYA

CRINE A IR
PHAIG?

a) 15%25%2p°

b) 1s®2s® 2p° 3s® 3p*
) 1s°2s%2p° 3¢ 3p°
d) 1s?2s® 2p® 3s? 3p°

A

frafoiaa & ¥ forad e uRAm
@SS o {TdN) BT § fForgH dag
gAdel-l & 3ffaec BT 3HI gIdT 87

a) NH;
b) H;O"
C) BH;
d) NH4"

[H3]" & 3M0f&rd H-H-H §¢ HIuT g
a) 180°
b) 120°
o) 60°
d) 90°



Q66

Q.67

Q.68

Q.69

Q.70

The rate of alkene coordination to
[PtCl4]* is highest for

a) norbornene

b) ethylene

c) cyclohexene

d) 1-butene

In the catalytic hydration of CO,

by carbonic anhydrase, CO; first

interacts with

a) OH group of the active site of the
enzyme and then with zinc

b) H,O of the active site of
the enzyme and then with zinc

c) zinc of the active site of the
enzyme and then with OH group

d) zinc of the active site of the
enzyme and then with H,O

The number of microstates
present in °F term is

a) 2

b) 21

¢ 9

d) 28

Chelate effect is
a) predominantly due to
enthalpy change
b) predominantly due to
entropy change
¢) independent of ring size
d) due to equal contribution
of entropy and enthalpy change

The lowest energy term for the 4
configuration is

a) D

b) °D

o 'P

d) 'D
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Q66 [ptcla] I UehIH JHTY HI <X & folT I=aH §

Q.67

Q.68

Q69

Q70

a):ﬁlﬁﬁﬁﬁ
SRYREIE

OB | EENIHEAE]
d) 1-sgesA

PIeID TIEBSH GRT CO, P IARD

S § CO, Tad Ugd fhdss a1y

RER fhar Har g

a) USTTSH Pt Withd WIge &1 OH U 3R
o i & Tmy

b) USTSH &I Fithd F1se & H,0 3R kR
5P & Ty

) USTeH &1 9fehd A1ge & Rl 3R fhR OH
4 & A1

d) UST3H ot fhy A1se o1 i 3R fR
H,0% Iy

3F ol T Hivjg AR Recy & TS §
a) 2
b) 21
o 9
d) 28

e YU §
a) T ¥U Y T gRadd & SR

b) T ¥ ¥ Terdl uRadd & HRUT
o T & MHR T add
d) Tt oiR TRied uRad & waH

AT & BRI

d6 fa=mg & fore gr7ay Seit Ue 8
a) °D
b) °D
C) p
d) 'D



Q.71 In a cubic crystal, the plane [100] Q71 U d*dﬁd) fopecd ff, HHJ [1OO]¥ITI?'|?ﬁ?ﬁ 3R
is equally inclined to the planes WW@TW@W%
a) [010] and [011] a) [010] 3R [011]
b) [010] and [110] b) [010] 3R [110]
) [001] and [101] ¢) [001] 3R [107]
d) [110] and [011] d) [110] 3R [011]
Q.72 The correct shape of [T.F] Q72 [T,F] oI ol HR- 3T b YR T
ion on the basis of VSEPR theory is AR Rigid &1 8
a) Trigonal bipyramidal a) Py fefiRifirs
b) Square pyramidal b) T fORTHS
c) Pentagonal planar ) UerAd @R
d) See-saw d) <t -4
Q.73 Decomposition temperature of CaCO; Q.73 CaCOs I YUY dUHA
in thermogravimetric analysis will be zﬁaﬁﬁ'@mﬁ@wﬁmm
highest in dynamic atmosphere of: &7 e araEor
a) Nitrogen a) AZcioM
b) Helium b) Bifcrad
¢) 1:1 mixture of O, and CO ) 1:1 0, 3R CO T fargur
d) methane d) HiT
Q74 One of the following reagent is Q74 fgfafad & ¥ Th SifiwHS BT SudnT
used for oxidation of alkenes to Teoh=d & faOR-d S H TR0l &
vicinal diols: 1T fopgy Tl &
a) Oxalyl chloride a) SR FARISS
b) Bromine water b) S Ut
¢) Lithium Hydride o fafms
d) Osmium Tetroxide d) 3feTH ¢
Q.75 Isomerization of alkene fall in to Q.75 Qo I JHIGIAIHU 9 H I fddt T
one of the following category: U F 3T B
a) Photochemistry a) qﬁzﬁ%ﬁ@
b) Electrochemistry b) < C
c) Biochemistry ) Wd TR
d) Bioanalytical Chemistry d) a@mﬁﬁw%ﬁﬁj
Q76 ... is not an example of sol Q76 .. NIRRT
a) Blood a) dd
b) nanoparticles b) Ao
¢) Paint ) Ue
d) Cell Sap d) I Y
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Q77

Q.78

Q.79

Q.80

Q.81

Q.82

One of the following has
immense contribution in field of
spectroscopy:

a) Alexander Fleming

b) Marie Curie

¢) Louis Pasteur

d) C.V.Raman

The amino acid which forms
thiazolidine ring with ninhydrin is
a) Alanine

b) Leucine

c) Lysine

d) Cysteine

In mitochondria of humans
following helps in electron
transport system

a) Fe-S proteins

b) ZnS Proteins

c) Cu-S proteins

d) Liions

Which technique can be used to
analyze surface functional groups
of the substance most accurately;
a) XPS

b) IPS

c) DTA

d) Impedance spectroscopy

Two simultaneous SN?reactions
lead to:

a) Inversion

b) First retention then Inversion
c¢) Retention

d) Racemic Product

In the SN' reaction of tert-butyl
chloride with iodide ion, If the
concentration of iodide ion is
doubled, the rate of forming tert-
butyl iodide will:

a) Double

b) Increase 4 times

¢) Remain the same

d) Decrease
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WR RS U & & H AafeiRad # 9 Ush o1 9gd
a) QTS TAfHT

b) T T
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d) Tdl =
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foT AT T8 B

a)
b) <gHIA
Q)

d) RrdH

T & ARemiear § fFafafad gaae-
URag- yunell # Aee Hdl o

a) B-TgUIcH

b) SSUATH Ui

o Wg-waud=

d) | 3maA

erd o Tag i TgI BT Jay Aeid

fIzayur B & folw {5 de-iier &1 SuanT fosan
o Tl &;

a) TaguiTg

b) SSUTH

) Siciy

d) Sy WaeRPpIU!

T 1Y & SN2 ffshad Fufafad &
&ﬁT@[\_rl'IT‘ﬁ%

a) 3dcl

b) Ugd UfdYURT fihr Ider

Q) Tfderor
d) YafHe IdTe

ITATSIZS T & Y TC-HL e HIRISS
$I SN ufdfeear #, afe smarsss 3 &
Higdl G 81 St €, ter-SgeTsd
SIS S & DI &R BRI

a) sdd .

b) 4 T deld

) 98I

d) Sl




Q.83

Q.84

Q.85

Q.86

Q87

The specific rotation of pure (R)-
2-butanol is -13.5°. What % of a
mixture of the two enantiomeric
forms is (S)-2-butanol if the specific
rotation of this mixture is -5.4° ?

a) 40%

b) 30%

c) 60%

d) 70%

The bond dissociation energy is

the amount of energy required to

break a bond

a) to produce the more stable
pair of ions

b) heterolytically

c) homolytically

d) via hydrogenation

How many isomeric
tribromobenzenes exist?
a) 0

b) 2

¢ 3

d) 5

Of the three dyes, green, yellow
and blue regarding absorption
which is true ?

a) longest = yellow; shortest = blue

b) longest = blue; shortest = green

c) longest = yellow; shortest = green
d) longest = green; shortest = yellow

Which spectroscopic tool would
be best for distinguishing a
sample of 1,2,2-trichloropropane
from 1,1,2-trichloropropane?

a) TH-NMR

b) UV spectroscopy

¢) IR spectroscopy

d) Mass Spectrometry

Q.83

Q.84

Q.85

Q.86

Q87

IS (R)-2-Sgeid T fafiy guiF -13.5° g1
gfe 3a forsor o1 fafiy gomg -5.4° §,

I coRCleARe ¥ 0l & Ay Bl

foreT wfa=Td (S)-2-sgerd g2

a) 40%

b) 30%

) 60%

d) 70%

ST GYIHRU S0l Uh S & 18- & [ad
I H Sl bI AT §

a) 3T Bt YD FRR TS BT IATGH IR & forg
b) favHee Tud

¢) IHRU®U Y

d) BIESISHI®RUI & AT I

ford SMEAARS CEaHIaH ANE 67
a) 0

b) 2
c 3
d) 5

AU & Jay H T 70, g, hat 3R i
TH YD I I 77

a) e daT = Uiar, 9o Bier = Hian
b) &Y daT = Il Yo BT = B
) ey dal = Yiell; 9a9 BT = &
d) &Y e = BT, Yo Blel = Ulall

1,1,2-CISFARIVITA ¥ 1,2,2-CTSRIRIYIUA o
T B AT HRA & 7T B T

W RDINUSG IUSHIVT JaY 3BT GRIT?

a) 1TT-TTHINR

b) gdl W RpIU!

) &ﬁmm

d) A WagH<l



Q.88

Q.89

Q90

Q.91

Q92

Which hydrocarbon gives the
lowest field "THNMR signal?
a) Cyclohexane

b) Benzene

c) 1,4-cyclohexadiene

d) 1-butyene

A CoH,BrCl compound gives

a '"HNMR spectrum consisting of

two equal sized doublets, J=16 Hz
What is this compound?

a) (Z)-1-bromo-2-chloroethene

b) (E)-1-bromo-2-chloroethene

c¢) T-bromo-1-chloroethene

d) 1-lodo-1-chloroethene

Which Isomers of C3HsCls has
two "HNMR singlets and
three >CNMR signals?

a) CH3CH2CC|3

b) CH,CICHCICH,CI

C) CH3CHC|CHC|2

d) CH;CCl,CHCI

Which of the following
statements is correct?
a) The Ruff procedure lengthens an

aldose chain and gives a single product.

b) The Ruff procedure shortensan

aldose chain and gives two epimers.

c) The Kiliani-Fischer procedure

shortens an aldose chain and gives a
single product.

d) The Kiliani-Fischer procedure

lengthens analdose chain and
gives two epimers.

Which of the following is not a
reducing sugar?

a) Sucrose

b) Mannose

C

Lactose
) Fructose
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Q.88

Q.89

Q90

Q.91

DI I ERSIHIET a9 HH &3 THNMR
Gobd TaTg?

a) BIEENIRESR]

b) &SI

Q) 1,4-GERIGHRITSH

d) 1-butyene

T CoH, BrCl Qe T 1THNMR TaeH a1 8
o 1 gH 3MPR P ST BId §, J=16 Hz
g Gt 1 22

a) (S18)-1-8HI-2-FaREd=

b) (3)-1-H1-2-FAREAH

¢) 1-STHI-1-FARIESH

d) 1-3MISI-1-FARTAA

CsHsCl; & frg smgamd # &Y "THNMR
Rt 8iR 9 *CNMR REra 82

a) CH3CH,CCls

b) CH,CICHCICH,CI

) CH3CHCICHCI,

d) CH3CClLCH,Cl

fFafefad syl # 9 S 981 87

a) YW Ufchdl ThUcelsl YRadldh! dal
Al & AR TP Bl IdIG &l 5

b) I Ufhdl Udh Uesiol YTal Dl BleT dHdl
g iR a TR Tt g

o) fpfomm-fpeR uftar ue TeEie g
DI BT H § 3R TH &l IdE Sl 8

d) foferai-fheR ufdar Ueh Tesiol gad ol
TS Bl § 3R &Y TR et B

Q92 A9 A Y H-T U=t 7T 8l 82

a)w
b) HAN
c)aaaﬁ
d) P



Q93

Q.94

Q95

Q.96

Q.97

Q.98

Sanger's reagent, 2,4-
dinitrofluorobenzene, reacts with
which functional groups in a
peptide?

a) Free amino group

b) Free Hydroxyl Group

c) Aromatic heretocyclic ring

d) sulphide group of methionine

Which of the following methods
selectively cleaves a peptide at
methionine residues?

a) Trypsin

b) Cyanogen Bromide

¢) Chymotrypsin

d) Edman Degradation

For which of the following lipid
classes or lipid derivatives are fatty
acids not a significant component?
a) Phospholipid

b) triglycerides

Cc) waxes

d) steroids

Which of the following is not a
protonic solvent?

a) HF

b) H.O

O CHCb

d) H,SO4

The energy rich molecule in
biological system is

a) Ferredoxin

b) Nitrogenase

c) ATP

d) Porphyrin

Which two lanthanide ions have

same color ?
a) Sm®* and Dy**

b) La*"and Dy3+
c) Gd** and La**
d) Gd** and Sm**
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Q.96
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YR P MNHUD, 2,4-SRAFARISSH,
UpEe § b Brfed 98 &
1 gfafsar BT g2

frafafad & @ oF 9@ fafyr gfier wu § AREHe=
3IAY TR TP UPTSS ! ATh Hal 82

a) fefRm

b) TSI SHISS

¢) PIZHICIR

d) Tsi4 fedewm

frafaied & 9 fog forftre o o fafus Sfafea
¥ forg et it ue Aeaqul gew 181 82

a) BIpIAUS

b) CIERRIEEY

c)

d) RIS

fFrafafed o 9 oH WeiHe fadre T8 o7
a) HF

b) H.O

d CHCb

d) HxSO4

Sifde guirel! & Solf T 3] §

a)

b) mszjlaq
c) T
d) Tifth3A

fo Gl TS S ST BT T JHH Bial 62
a) Sm** and Dy**

b) La’" and Dy*"

c) Gd** and La**

d) Gd** and Sm®*



Q99 IUPAC name of [Co(NH,)]Cl, is

a) Hexaamminecobalt (ll1)
chloride

b) Hexaamminecobalt (II)
chloride

¢) Hexaamminecobalt (I)
chloride

d) Hexaamminecobalt (0)
chloride

Q.100 ZSM is used as catalyst for the
conversion of methanol to
gasoline because of

a) Very large pore size
b) Very small pore size

c¢) Existence of
interconnecting channels
d) Smooth surface

Q.101 According to the Michaelis
Menten equation for
unimolecular reactions:

a) The rate is first order at
low pressure, but
becomes zero order at
high pressure

b) The rate is zero order at
both low and high
pressures

c¢) The rate is zero order at
low pressure, but
becomes first order at
high pressure

d) The rate is first order
at both low and high
pressures
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Q.99

[Co(NH,).]CI, BT IUPAC TTH §

a) Hexaamminecobalt (lll) chloride
b) Hexaamminecobalt (I) chloride
¢) Hexaamminecobalt (I) chloride
d) Hexaamminecobalt (0) chloride

Q.100 ZSM T IYTRT AYATA B! TIei | dga- &b

Q.101

fore IARS & = A fopa Srar § wife
a) dgd 9l f¥g MR

b) 9gd BIcl [&% HR

) SeBAGT Il BT 3K

d) fIe- Tdg

TH W] Uldfharsti & e A io™ Hed

HHIDHRT & SR:

a) o} Y <@ W UYHA %A g, Afh =
31§ W Y Y B o1l §

b) ?ﬁﬁmaﬁmaﬁmw

¢) HH dd R &R Y HH &, Afth 3=
<S1d TR U ShH & o &

d) X Y 3R I I TaTal R UYH
PH T




Q.102 Spectroscopy which provides

information regarding non —
symmetrical distribution of
electrons around nucleus is
known as —

a) EPR

b) Mossbauer

c¢) NQR

d) MS

Q.103 According to Arrhenius, the

Q104

Q105

Q106

relation between Arrhenius factor
Aand K is

a) K=A2

b) K=1/A

c) Ko A

d) Ko 1/A

The unit cell parameter a=b=c
and a=B=y=900 represents
crystal system

a) Tetragonal

b) Cubic

¢) Monoclinic

d) Hexagonal

If a non-volatile solute is
added in benzene at 30°C, its
vapour pressure will change as
follows

a) increase

b) decrease

C) remain same

d) depend upon solute

Which of the following equation

is true for one electron system

(i.e. Hydrogen)

a) Wa=WA(1).WB(2)+WA(2).WB (1)

b) Wa=WA (1).WB(2)xWA(2).WB (1)

o) Ws=WA (1).WB(2)+WA(2).WB (1)
d) Ws=WA (1).WB (2)-WA(2).WB (1)
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Q.102

Q103

Q104

Q105

Q106

e R U1 ST ATMN® & dIRI 31R FaaeHi
& TR-THHd faR0r & IR H TSGR UgH
P 2,3 PET AT & -

a) EPR

b) Mossbauer

) NQR

d) MS

IRETY & TR, 3R HRF A 3R K
AN ERICOR

a) K = A2

b) K = 1/A

c) K A

d) K o< 1/A

gfe ¥ IRHER a=b=c 3R a=p=y=900
fepeed e &1 ufaffia #ar g

a) Tetragonal
b) Cubic

¢) Monoclinic
d) Hexagonal

g 30°C W ool H T Sfar=iid faad
oy fear WY, |l 341 aY ard
PHMYR sed s

a) IR

b) el
¢) 98I gl
d) g AR

frafafad o 9 oF 1 THieR Ue Saagi-
TR (@1 SIS gIor) & ot I8t §

a) Wa=WA(1)WB (2)+WAQR).WB (1)

b) Wa=WA (1).WBQ2)xWAR).WB (1)

) Ws=WA (1).WB (2)+WAQR).WB (1)

d) Ws =WA (1).WB (2)-WAQR).WB (1)



Q.107 An increase in equivalent

conductance of a strong electrolyte

with dilution is mainlydue to

a)
b)
Q

d)

increase in ionic mobility of ions

increase in number of ions
100% ionization of
electrolyte at normal dilution

increase in both i.e.number of
ions and ionic mobility of ions.

Q.108 The de Broglie wavelength of

Q109

an electron moving with a velocity

of 4.8 x 10° m/s is about
a) 1.5x10-9m

b) 3.0 x 10-10m

c) 48x10-5m

d) 48x105m

Which of the statement is not
true?

a)

Q

d)

Franck Condon Principle
states that during electronic
transition the internuclear
distance of amolecule does
not change

The intensity of a
fundamental vibrational
transition is higher than
that of a first overtone
transition.

Morse equation represents
the energy expression of a
simple harmonic oscillator
The energy spacing
between various

vibrational levels are the
same in a simple harmonic
oscillator
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Q109

3 S} el aTe Ty 8§
a) 1.5x10-9m
b) 3.0x 10-10m

c) 48x10-5m
d) 48 x 105 m
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Q.110 A process is spontaneous at all
temperatures if
a) AH>0,AS>0
b) AH>0,AS<0
¢ AH=0,AS<0
d AH<0,AS>0

Q111 A monoatomic gas following
Fermi-Dirac statistics begins to
follow Maxwell-Boltzmann
statistics at:
a) Low Temperature and low density

b) High Temperature and high density
¢) Low Temperature and high density
d) High Temperature and low density

Q.112 If the number of ways of a
molecular arrangement can be
expressed by term X then the
relationship between entropy S
and the term X can be represented by
a) S=X
b) S =kX
o S=QrT
d) S =kInX

Q.113 The conditions for a species to
follow Bose-Einstein statistics are:

a) Particles areindistinguishable,
with no restriction on filling up of
energy levels

b) Particles are indistinguishable,

with a restriction on filling up of energy

levels

c) Particles are distinguishable, with
a restriction onfilling up of energy
levels

d) Particles are distinguishable, with
no restriction on filling up of energy

levels

Q110 Ueb YlchdT FHi TTAMT IR Tck: ool

Q111

Q112

Q113

gIdl g afg

a) AH>0,AS>0
b) AH >0, AS <0
¢ AH=0,AS<0
d) AH<0,AS >0

HHf-fERT 3Hiehs! b S8 Teb HAHITCHHS T4
NaIdd-SIeco- & 3fiba! B uia Bl L
W?ﬂ%:

a) HH dOHM 3R & TTd

b) I UM 3R I g9

¢) HH dAUHM 3R 3= I

d) 3= d9HH 3R HH I

Tfe 3uIfdes STaRIT & TIPp! BT TBT
DI X gRT T foar S qhdig df Terdt
S 3R UG X P oI Y BT Ufaifera
T S TohdT §

a) S=X

b) S = kX
¢ S=Q/T
d) S = kInX

G- 3Hihs! BT UTa- B & fog
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Q114 Which of the following
experimental techniques is not
used to determine the average
molecular weight of a polymer?
a) Transmission electron microscopy
b) Equilibrium sedimentation
¢) Intrinsic viscosity measurement
d) Dynamic light scattering

Q.115 The units of coefficient of
viscosity are
a) poise
b) J/m?
c) kg/cm
d) curie

Q.116 Which of the following is correct
for chemisorption?
a) not specific and reversible
b) not specific and irreversible
c) specific and reversible
d) specific and irreversible

Q.117 The highest temperature that can
be achieved due to a single
normal mode of vibration in a
solid crystal is known as:

a) Debye Temperature
b) Theta Temperature
c) Curie Temperature
d) Flory Temperature

Q.118 Which of the following statement
is correct for adiabatic process?
a) Heat passes into system
b) Work is done on the system
c) No exchange of
heat is done by the system

d) Heat is transferred
from system to the system.
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a) Transmission electron microscopy
b) Equilibrium sedimentation

) Intrinsic viscosity measurement

d) Dynamic light scattering

QAT OIS P 3H1AT &
a) poise

b) J/m?

c) kg/cm

d) curie
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Q.119 Which of the following belongs to

Q.120

C3v point group:
a) SO,
b) BBr,
C) NH,
d) Alcl,

Quantum dots are

a) Three dimensional
b) One dimensional
¢) Two dimensional
d) Zero dimensional

Q119 Fufafad &3 oM c3v fig a9

T Iefia
a) so,
b) BBr,
C) NH,
d) Alcl,

Q120 dTcH 3icy &
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